Exam. Code: 0005
Sub. Code: 0431
2012
B.A./B.Sc. (General) Fifth Semester
Psychology
Paper: Clinical Psychology
(In all mediums)
Time allowed: 3 Hours Max. Marks: 70

NOTE: Auempt five questions in all, including Question No. I which is compulsory
and selecting one question from each Unit. Use of statistical tables and non-
programmable calculator is allowed.

X-X-X
I.  Attempt any seven of the following:
a) Arbitary Inference
b) Free Association
c) Eustress
d) Mean
e) Diathesis Stress Model
f) Stage of Exhaustion
2} Type Il error
h) Exorcism
1) Standard Error of Mean
) Reinforcers
k) Schemas
1) Stressors (7%2)
UNIT -1
[I.  Elucidate upon interpersonal perspective of abnormality. (14)
III.  Explain in detail Humanistic perspective of abnormality. (14)
IV.  Elaborate upon biological causes of abnormal behavior. (14)
V.  Explain in detail socio cultural causes of psychopathology. ‘ (14)
UNIT - I11
VI.  Throw light upon various types of coping strategies. (14)
VII.  Explain in detail etiology of stress. (14)
UNIT - IV

VIII.  In a study of abstract reasoning, a sample of 80 tenth grade boys and a sample of 100
twelfth grade girls scored as shown below:

Gender N Mean Sd
Girls 100 22.56 8.67
Boys 80 24.67 3.52
Does a significant difference exists among the means of two groups. (14)

IX.  The scores of two groups of second year high school boys, the one from an academic
and the other from a technical school, is compared on an achievement test. The two
groups are matched for mean and sd upon an aptitude test. Do the two groups differ in
mean ability?

Academic Technical

No of boys in each groups 123 120

Mean on Achievement test 110 90

sd on achievement test 50.03 31.62

Mean on aptitude test 52.30 67.30

sd on aptitude test 6.23 7.14

Corclation between achievement test and aptitude test is 0.40. {(14)
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